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R4 E TREMKEFESFREHE

1 REOHE
1 ZEBRI
R SN 4 EE S SEE e A (%)

THH (1) (2) (D-(2) (1)/(2)

fakFEEFTE (B 52 51 1 102. 0

— HEZKAKE (m) 17, 055 20,912 A 3,857 81.6

FERRREOKE (m) 3, 854, 722 3,667, 155 187, 567 105. 1

— BRI KR (m) 10, 561 10, 047 514 105.1

2 ISR E (Bitkx) (HEAL 0 )

R SR A FEREAR | A 3R AR HITAE B b
(B FHEE) (LS F A A AT L (%)

THH (3) (4) (3)-(4) (3)/(4)

N A (A) 297, 802, 533 368, 050, 356 A 70,247, 823 80. 9
e 283, 979, 330 345, 624, 925 A 61,645, 595 82.2
MR 13, 823, 203 22,425,431 A 8,602,228 61.6
FERIFIASE 0 0 0 —

x (B) 288, 638, 354 277, 965, 907 10, 672, 447 103. 8
A 285, 499, 550 274,771, 675 10, 721, 875 103.9
NV E 3,138, 804 3,188, 232 A 49, 428 98. 4
FERIE L 0 0 0 —

FRH LK 9,164, 179 90, 084, 449 A 80,920, 270 10. 2

WX 7=51% (A) — (B) 9,164, 179 90, 084, 449 A 80,920, 270 10. 2

FARFULSE - - RRFIAS CEZEUAR + B ESMNAR) M OMRE M (ERAH+EEATEM) 22 L3IV bo

3 EARMIT (BliAZ) (HEAL 0 )
R RN 4 AR 3 A HITAFJE b
S X USR] s B4R HE (%)
HH (5) (6) (5)-(6) (5)/(6)
N A (C) 72, 200, 000 21, 400, 000 50, 800, 000 337.4
[t 72, 200, 000 21, 400, 000 50, 800, 000 337.4
X (D) 165, 533, 263 123, 168, 288 42, 364, 975 134. 4
A By 156, 399, 925 111, 268, 243 45, 131, 682 140. 6
A EREES 9,133,338 11, 900, 045 A 2,766,707 76.8
WX 7=51% (C) — (D) A 93,333, 263 A 101, 768, 288 8, 435, 025 —
BARMNAFENEARN IR R T 2581, BRHERREESTHTALE L,
4 —EEEH» D ORBA (HEAL 0 )
R RN 4 AR 3 A HITAE B b
S X USR] s B4R HE (%)
THH (7 (8) (7)-(8) (7)/(8)
TR KB FELE 1, 289, 228 3,737,102 A 2,447,874 34.5
h=FaiHse 707, 228 3,633, 102 A 2,925,874 19.5
e F & 582, 000 104, 000 478, 000 559. 6
=y &t 1, 289, 228 3,737, 102 A 2,447,874 34.5
EFLAE DA 1, 289, 228 3,737, 102 A 2,447,874 34.5
FEHESL DA 0 0 0 —
5 BE&RELLEORN (HAT : %)
1 H EeR R R PR A B 1t =
He Tl — 20.0 BHERNERL

(=B&DA R/ FHEDHM)




